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1. a

SECTION B (40 Marks)
Answer any TWO questions in this section

An atom has six protons and a mass number of thirteen. Find the following for the atom;
i. Neutron number

i, Number of electrons (6 marks)
b. Complete the table below (4 marks)
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. Write fwo factors influencing the formation of ionic bond. (2 marks)
P B . 2% , ¢
d. The element Q is represented as 150 {5 marks)
i, What do the subscripts and superscript stand for?
i, Calculate the number of neutrons
i, How many protons and electrons has Q7
iv. What is the actual name and chemical symbol of Q7
¢. Using the data below, find the relative atomic mass of boron using percentage abundance
and fractional abundance. (3 marks)
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{4 marks)

b. following compounds {4 marks)
traoxonitrate(V)
i Tfi@m&:arb@ﬂatﬁ{i% ion
tv. Copper(l) oxide
c. Give any tweo properties of pure substance., (2 marks)
d. Copy and complete the table below {6 marks)
lame of General molecular | Formula for C=2 | [UPAC name
Hydrocarbon formula
Alkane Ethane
Alkene CoHy
Aik}/ﬂéﬁ u;gﬁ”n -7
e. Give any four properties of covalent compounds. (4 marks)
3. a. Draw the Lewis structures of each of the following covalent compounds (2 marks)
. O
i, CHs
b. Classify the following into good &ﬁé poor conductors of electricity;
Ca(OH)z, H2804, NaOH, CH3COQ (4 marks)
¢. Calculate the molar mass of the following molecules: {8 marks)
i, NaOH
ii. Ca(OH)y
. (COOHR.2HO
w. NepCO3.10H20 1 (Ar: Na=23, O=16, H=1, Ca=40, C=12
‘d. Balance the following chemical equations (2 marks)
L. CHs+ O3 ———e Oy + H;0
i, P+0y ~——p P30s
e. Calculate the number of molecules in 6.4g of Sulphur (iv) oxide gas
(6=34, 0=16, L = 6.02 x 1023) {4 marks)
4. a. The table below shows the pH of solutions E, F, G, H, I, Jand K {8 marks)
Solution | E F G H I J K
pH 3 4 8 i3 5 10 7

s letters of't

i, Which of the solu

he most acidie, the most alkaline and neutral solutions.
ions will change the colour of a universal indicator to violet?



o below and use it to answer the questions that follow: (8 marks)

WOH — WX + H0
i, Name the type of reaction illustrated.

i

ii. Which species is
(o) an acid
(B) asalt
(\) a base

c. Explain why the solution of WX is a good conductor (4 marks)






